	TEST ADA
	Enfermos
Diagnostico TB +
	Sanos Diagnostico TB -
	TOTAL

	+
	a 17
	b 2
	19

	-
	b 28
	d 53
	81

	TOTAL
	45
	55
	100



S = a/ a+c = 17/17+28 = 53/45 =.37
E = d/ b+d =  53/2+53 = 53/2+53 = 53/55 = .96 
VP (+) = d/c+d = 53/53+28 = 53/81 = .65
VP (-) = a/a+b = 17/17+2 = 17/19 = .84
RP (+) = s/1-e = .37/1-.96 = .37/.04 = 9.25
RP (-) = 1-s/e = 1-.37/.96 = .63/.96 = .65
Prevalencia = a/a+b+c+d = 17/17+2+28+53 = 17/100 = .17
Exactitud = [(a+d/a+b+c+d)100] = (17+2/17+2+28+53)100 = [(19/100)100] = (.19)100 = 19

· 
S = .37 

E = .96 

VP (+) = .65 

VP (-) = .84 

RP (+) = 9.25 

RP (-) = .65 

Prevalencia = .17

Exactitud = 19
